

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 6

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMY 9595E

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	SUNDRIES (SN)	NECESSARY	150.00	150.00
1	RADIATOR (SN)	BENT	836.85	836.85
2	ROCK GUARD @\$68.30 (SN)	BROKEN (1PIECE ONLY)	136.60	68.30
1	BRACKET FOR MODULE LH (SN)	BROKEN	37.10	37.10
1	BRACKET FOR MODULE RH (SN)	NOT NECESSARY	37.10	-
1	COVER TOP (SN)	NOT NECESSARY	64.25	-
1	COVERING LOWER (SN)	BROKEN	73.50	73.50
1	SEAL BOTTOM (SN)	BROKEN	44.55	44.55
1	EXTERNAL RADIATOR (SN)	NOT NECESSARY	527.20	-
1	RADIATOR (SN)	BENT	836.85	836.85
1	MODULE CARRIER LH (SN)	BENT	79.15	79.15
1	MODULE CARRIER RH (SN)	NOT NECESSARY	79.15	-
1	MODULE CARRIER RH (SN)	NOT NECESSARY	79.15	-
1	MODULE CARRIER RH (SN)	NOT NECESSARY	79.15	-
1	FRAME (SN)	NOT NECESSARY	85.20	-
1	FAN HOUSING WITH FAN 400W (SN)	BROKEN	1,189.65	1,189.65
1	FRT LH FENDER (SN)	DENTED	609.25	609.25
1	BONNET (SN)	DENTED	1,207.85	1,207.85
1	FRT LH SIDE PANEL BRACKET 3 (SN)	NOT NECESSARY	41.20	-
1	FRT LH SIDE PANEL BRACKET 2 (SN)	BROKEN	41.20	41.20
1	FRT LH SIDE PANEL BRACKET 1 (SN)	NOT NECESSARY	41.20	-
1	BONNET LH HINGE (SN)	NOT NECESSARY	110.10	-
1	BONNET RH HINGE (SN)	NOT NECESSARY	110.10	-
1	FRT LH SIDE PANEL SUPPORT (SN)	BROKEN	13.30	13.30
1	FRT RH SIDE PANEL SUPPORT (SN)	NOT NECESSARY	13.30	-
1	FRT BUMPER TOP MOUNT (SN)	BROKEN	381.70	381.70
1	FRT LH DEFORMATION ELEMENT (SN)	BROKEN	102.80	102.80
1	FRT LH DEFORMATION ELEMENT (M) (SN)	BROKEN	87.25	87.25
1	FRT SHOCK ABSORBER (M) (SN)	BROKEN	79.50	79.50
1	GRILLE BUMPER MIDDLE FRT (M) (SN)	BROKEN	107.70	107.70



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRT LH BUMPER GRILLE W/O FOG LAMP (SN)	BROKEN	107.70	107.70
1	FLAP TOWING EYE PRIMED (M) (SN)	NOT NECESSARY	47.90	-
1	LICENCE PLATE BASE (M) (SN)	NOT NECESSARY	85.15	-
1	FRT RH BUMPER GRILLE W/O FOG LIGHT (SN)	NOT NECESSARY	222.50	-
1	SET MOUNTING PDC/PMA SENSOR FRT (M) (SN)	NOT NECESSARY	71.90	-
1	TRIM COVER, (SN)	NOT NECESSARY	1,158.35	-
1	FRT BUMPER BOTTOM CARRIER (M) (SN)	BENT	297.15	297.15
2	EMBLEM (M) @\$83.80 (SN)	NECESSARY	167.60	167.60
2	GROMMET @\$0.80 (SN)	NOT NECESSARY	1.60	-
1	PLAQUE 74MM (SN)	NOT NECESSARY	72.85	-
1	M PERFORMANCE FRT ATTACHMENT MATT (SN)	BROKEN	1,258.75	1,258.75
2	GAS STRUT HOOD @\$127.15 (SN)	NOT NECESSARY	254.30	-
2	STOP BUFFER @\$13.05 (SN)	NOT NECESSARY	26.10	-
1	FRONT PANEL V STRUT (SN)	BENT	120.75	120.75
1	LH SUPPORT (SN)	BENT	169.65	169.65
1	RH SUPPORT (SN)	NOT NECESSARY	169.65	-
1	FRONT CROSSLINK (SN)	BENT	181.10	181.10
1	M PERFORMANCE FRONT GRILLE LH BLK (SN)	BROKEN	140.10	140.10
1	M PERFORMANCE FRONT GRILLE RH BLK (SN)	BROKEN	140.10	140.10
1	FRT LH WHEEL HOUSING COVER (SN)	NOT NECESSARY	107.50	-
1	FRT LH COVER WHEEL ARCH FRT SECTION (SN)	CUT	107.50	107.50
1	AIR DUCT RADIATOR (SN)	BROKEN	189.40	189.40
1	BRACKET, AUX (SN)	NOT NECESSARY	74.95	-
1	AIR DUCT BRAKE LH (M) (SN)	BROKEN	52.85	52.85
1	AIR DUCT BRAKE RH (M) (SN)	NOT NECESSARY	52.85	-
1	AIR DUCT BOTTOM (M) (SN)	BROKEN	79.30	79.30
1	FRT LH PRESSURE LIP (M) (SN)	BROKEN	25.35	25.35
1	FRT RH PRESSURE LIP (M) (SN)	NOT NECESSARY	25.35	-
4	ADJUSTER @\$5.80 (SN)	NOT NECESSARY	23.20	-
1	FRONT ENGINE HOOD SEALING (SN)	BROKEN	39.85	39.85
1	LH HEADLIGHT LED AHL HIGH (SN)	BROKEN	2,633.55	2,633.55
1	RH HEADLIGHT LED AHL HIGH (SN)	NOT NECESSARY	2,633.55	-
1	LH FOG LIGHT LED (SN)	NOT NECESSARY	467.55	-



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	RH FOG LIGHT LED (SN)	NOT NECESSARY	467.55	-
1	EVAPORATOR (SN)	NOT NECESSARY	1,008.95	-
4	DECOUPLING RING PDC TORQUE CONVERTE @\$5.30 (SN)	NOT NECESSARY	21.20	-
1	PDC SENSOR (SN)	BROKEN	373.90	373.90
2	HEX NUT M10 CHROME FREE @\$2.40 (SN) (ADDITIONAL)	NECESSARY	4.80	4.80
10	SCREW @\$1.40 (SN) (ADDITIONAL)	NECESSARY	14.00	14.00
5	EXPANDING NUT L=19.9MM @\$1.40 (SN) (ADDITIONAL)	NECESSARY	7.00	7.00
2	BLIND RIVET @\$1.35 (SN) (ADDITIONAL)	NECESSARY	2.70	2.70
2	BRACKET UPPER @\$26.60 (SN) (ADDITIONAL)	BROKEN	53.20	53.20
2	HEX SCREW WITH COLLAR M12X1.5X85 @\$8.45 (SN) (ADDITIONAL)	NECESSARY	16.90	16.90
1	LH WISHBONE (SN) (ADDITIONAL)	NECESSARY	276.60	276.60
1	HEXAGON SCREW WITH FLANGE M12X121 (SN) (ADDITIONAL)	NECESSARY	12.90	12.90
1	HEXAGON SCREW WITH FLANGE M12X121 (SN) (ADDITIONAL)	NECESSARY	12.90	12.90
1	LH TENSION STRUT W/HYDRAULIC MOUNT (SN) (ADDITIONAL)	NECESSARY	276.60	276.60
1	UNDERRIDE PROTECTION (SN) (ADDITIONAL)	BROKEN	67.10	67.10
4	SPHERICAL COLLAR SCREW M12X1.25X45 @\$8.05 (SN) (ADDITIONAL)	NECESSARY	32.20	32.20
1	WHEEL HUB WITH BEARING FRT (SN) (ADDITIONAL)	BENT	494.30	494.30
1	FRT LH CARRIER (SN) (ADDITIONAL)	BENT	491.80	491.80
1	FRT GUIDE SUPPORT (SN) (ADDITIONAL)	BENT	242.60	242.60
1	FRT SWING SUPPORT (SN) (ADDITIONAL)	BENT	101.60	101.60
2	HEXAGON SCREW WITH FLANGE M10X85 @\$7.10 (SN) (ADDITIONAL)	NECESSARY	14.20	14.20
5	HEX BOLT WITH WASHER M8X30 @\$5.65 (SN) (ADDITIONAL)	NECESSARY	28.25	28.25
2	ASA BOLT M10X55 @\$6.15 (SN) (ADDITIONAL)	NECESSARY	12.30	12.30
1	LH TIE ROD (SN) (ADDITIONAL)	BENT	302.60	302.60
1	EXCH. STEERING BOX ELECTRIC (SN) (ADDITIONAL)	BENT	6,180.50	6,180.50
3	COMBINATION NUT M14X1.5 @\$6.10 (SN) (ADDITIONAL)	NECESSARY	18.30	18.30
1	HEX NUT WITH FLANGE (SN) (ADDITIONAL)	NECESSARY	2.50	2.50
3	HEX NUT WITH FLANGE @\$2.50 (SN) (ADDITIONAL)	NECESSARY	7.50	7.50



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	HEXAGON NUT WITH COLLAR @\$2.50 (SN) (ADDITIONAL)	NECESSARY	5.00	5.00
2	HEXAGON NUT WITH COLLAR @\$2.50 (SN) (ADDITIONAL)	NECESSARY	5.00	5.00
1	ALLOY RIM 7.5X19 M DOUBLE SPK 624 (SN) (ADDITIONAL)	CUT	1,795.80	1,795.80
1	FRT LH SPRING STRUT (SN) (ADDITIONAL)	BENT	715.65	715.65
1	FRT BUMPER LH INSERT (SN) (ADDITIONAL)	BROKEN	54.55	54.55
1	FRT BUMPER RH INSERT (SN) (ADDITIONAL)	BROKEN	54.55	54.55
1	SUPPORT CENTER (SN) (ADDITIONAL)	BROKEN	17.90	17.90
1	FRT BUMPER PANEL PRIMED (M PDC) (SN) (ADDITIONAL)	BROKEN	1,183.80	1,183.80
1	LH MOUNT FOR HOOD (SN) (ADDITIONAL)	NECESSARY	15.00	15.00
1	FRT LH PRESSURE LIP SEAL (M) (SN) (ADDITIONAL)	MISSING	60.55	60.55
1	FRT RH PRESSURE LIP SEAL (M) (SN) (ADDITIONAL)	MISSING	60.55	60.55
1	UNDERHOOD SHIELD (SN) (ADDITIONAL)	BROKEN	190.35	190.35
1	PLAQUE 82MM (SN) (ADDITIONAL)	NECESSARY	72.85	72.85
1	SET OF CABLE FRT APRON (SN) (ADDITIONAL)	TORN	99.00	99.00
1	HORN LOW PITCH (M) (SN) (ADDITIONAL)	BROKEN	81.30	81.30
1	LH BRACKET (SN) (ADDITIONAL)	MISSING	30.75	30.75
1	LABEL COOLANT 540+/-10G (SN) (ADDITIONAL)	NECESSARY	25.00	25.00
1	(DG/SL) ADHESIVE SET 1K 80ML (SN) (ADDITIONAL)	NECESSARY	107.55	107.55
4	(S/L) ANTI FREEZE 1.5 LITRES @\$21.75 (SN) (ADDITIONAL)	NECESSARY	87.00	87.00
			33,694.95	25,366.60
	<u>LABOUR</u>			
	TO REPLACE FRONT BUMPER, FRONT LH FENDER AND ATTACHMENTS, BONNET, FRONT LH DEFROMATION ELEMENT, FRONT LH/RH INSERT, FRONT LH DEFORMATION (M), FRONT SHOCK ABSORBER, FRONT MIDDLE GRILLE, FRONT LH GRILLE W/O FOG LAMP, FRONT BOTTOM CARRIER, M PERFORMANCE FRONT ATTACHMENTS MATT, FRONT PANEL V STRUT, LH SUPPORT, FRONT CROSSLINK, LH/RH M PERFORMANCE FRONT GRILLE BLK, FRONT LH WHEEL ARCH COVER, FRONT LH/RH PRESSURE LIP SEAL, UNDERHOOD SHIELD, FRONT ENGINE HOOD SEALING, HORN, LH BRACKET }		5,525.00	3,825.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:5 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	INCLUDE MAKING GOOD THE FRONT LH DOOR AND CARRYING OUT NECESSARY REPAIRS CAUSED BY THE ACCIDENT. }		-	-
	PAINTING FRONT BUMPER BOTH SIDE FENDER FRONT,BONNET AND LEFT FRONT DOOR.		4,991.00	3,900.00
	TO SUPPLY FRONT EMBOSS NUMBER PLATE.	NOT NECESSARY	83.00	-
	TO CHECK ELECTRICAL WIRING SYSTEM AT THE FRONT SECTION FOR PROPER FUNCTION INCLUDING ADJUSTMENT OF HEADLIGHTS.		177.00	168.00
	TO REMOVE OLD PDC ASSEMBLY, REPLACE DAMAGED PARTS AND RECONNECT TO NEW BUMPER INCLUDING CONDUCT CHECK FOR PROPER FUNCTION.		177.00	168.00
	TO REMOVE AND INSTALL RADIATOR ASSEMBLY, FAN HOUSING WITH FAN INCLUDING PRESSURE TEST, BLEED COOLING SYSTEM AND CONDUCT CHECK FOR LEAK. (ALL MODELE EXCEPT 7 SERIES).	NOT NECESSARY	673.00	-
	TO REMOVE AND INSTALL AIR CON CONDENSER AND PIPING INCLUDING VACUUM SYSTEM, TOP UP FREON GAS AND CONDUCT CHECK FOR LEAK. (FOR ALL MODELS EXCEPT FOR 7 SERIES).	NOT NECESSARY	814.00	-
	TO CARRY OUT BODY CAVITY PRESERVATION. (2 PANEL).		236.00	224.00
	TO REPLACE BOTH LEFT AND RIGHT HEADLIGHTS.		837.00	456.00
	TO CHECK STEERING GEOMETRY AND CONDUCT WHEEL ALIGNMENT IN ACCORDANCE WITH BMW SPECIFICATIONS. (1X).	NOT NECESSARY	531.00	-
	TO SUPPLY FRONT EMBOSS NUMBER PLATE. (ADDITIONAL).		165.00	165.00
	TO REPLACE RADIATOR ASSEMBLY, FAN HOUSING WTH FAN AND INCLUDE PRESSURE TESTS, BLEED COOLING SYSTEM AND CONDUCTING CHECKS FOR LEAK. (ADDITIONAL).		785.00	785.00
	TO REPLACE AIR CON CONDENSER AND AIR CON HOSE INCLUDE VACUUM SYSTEM, TOP UP FREON GAS AND CONDUCTING CHECKS FOR LEAK. (ADDITIONAL).		953.00	953.00
	TO REMOVE AND INSTALL FRONT SUSPENSION FOR INSPECTION INCLUDE REPLACEMENT OF DAMAGED PARTS. (ADDITIONAL).		2,522.00	2,522.00
	TO REPLACE ELECTROMECHANICAL POWER STEERING INCLUDE PROGRAMMING, INITIALIZING THE STEERING COLUMN ADJUSTMENT AND CONDUCTING CHECKS FOR PROPER FUNCTION. (ADDITIONAL).		841.00	841.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:6 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO TOW ACCIDENT VEHICLE TO PML WORKSHOP. (ADDITIONAL).		150.00	150.00
	TO CHECK STEERING GEOMETRY AND CONDUCT WHEEL ALIGNMENT IN ACCORDANCE WITH BMW SPECIFICATIONS (X2). (ADDITIONAL).		1,008.00	1,008.00
			20,468.00	15,165.00
	GRAND TOTAL		54,162.95	40,531.60

RECOMMENDED COST OF REPAIRS		40,531.60
LESS EXCESS		-600.00
NETT LIABILITY		39,931.60

Report Ref No. CS/UOI22007583/Eqcm4

CHEN TSUE YEE

Automotive Assessor

X.S.

ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.